PART - A : GENERAL INTELLIGENCE AND REASONING

Directions : In questions no, 1 to 8, select the [8. . CDF:GHJ--9
reloted  letfers word fnymber from  the given y ; e
S (A) PQR : 8TU (B) EFT : MNO
. UTS:EDC:: WV :? P2 EoR g e
9. CUZA : HYCC - - NNJO A
&) SJm (B) ERST
: TEMF R
(©) GFE D XYW H i
) TURS (D} SRMG

- e R L

AT s 2 Directions : In questions no. 10 to 18, find the odd

L {B) 29 number /letters fword | number pair from the Fiven

Cy 25 (my 28 adfernalipes.
3. 2:12::8:2 10. (A) NORGAFE (B) MEINIAS

(A} 396 (B) 576 {C) SORE () SOTLU

(i 18 (D7 128 =

11. (A} Hergic (B) Reserved

4, Secretive - s - Snide - ¥

Secretive : Open : - Snide (C) Bold (D) Brave

(A) Cuteome By Forward

(C) Hidden (D) Forthright 12. [A) Chocolate (B) Cora-Cola
5. Dicrgen © Breathe - . 9 {C)  Bweetrmeat M Tee-cream

(A} Bed - Rest 13. [(AY 4514 (B MEE.

(Bl Glucoae : Strength () 1243 ) 7516

() Pen - Tok 4. (A} 136~ 1410  (B) 312 - 316

(D) Disease : Birth (Cy 121 — 134 (D) 691 - 61516
G, Thermometer ; Heat : - Barometer « i 15. {A) 183 (B} 289

LA) Humiq_;uf.-g {B) Altitude (Cy 143 (D) 165

(C}  Temperature 'I'f} Preesure 16. (A) © (B) Cold
i ook - Library ; - ? () Steel D) Silvar

(4} Bouquet : Flower 17. (&) Deputy (B} Representative

(B)  Ship ; Fleet (C)  Delegate (I Person

(G} Fish : River 18. (A} 1722 (B} 1109

() Aeroplane - Sky () 4512 () 8621
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Directions : In questions no, 19 fo 21, whick one el | 28. The daughter of the son of the father of my
of letters when sequentially ploced ot the gups in the father's sister is to me
fren Letle ies shall lete it ¥
s e e e {A) Daughter (B) Niece
19. bsccacea ghashbebbe ca (i Aunt .._,_,{,Erj'f!didi_srlur
{ b B :
A achca ®): bacab 27. In this guestion, a word hss heen EivET
5 [C)_haebe (D} abaaa followed by four other words, ome of which
20. ab_bbe_c_ab ab:c Eonpof be trmed by meing the letters ¢ thi
ST ®) & given word, Find this word.
o ca CHEO
Hii? foe i " ‘CHEMOTHERAPY
) il (A) THEATRE  (B) RAPED
2. A VI AV ZA V (C) HECTARE (D} MOTHER
Sl W L 28, If REEXAMINATION is written as
G AVAZ D) ZVEa EXAMINATIONER, how can REFORMER be
Diireetions @ In guestions no. 22 to 35, q meries j= written in that code ?
given, with one(two term{s) missing. Chovse the {A) FORREMER (B) FORMERER
correct alfernative from the given onee thaf will : :
complete the series. {C) REFORMEE (D) REFROMER
a9 IBID T OXA ' 29. Find out the sst among the four sels which is
R like the given sel.
fA) V 6 3% S o <
o i aet (45, 64, T3
e W ™ R B '
: ' (A) 13,28 44 (B) 17, 25, 42
2. g 7
Eil:. e (C) 16, 43, 68 (D) T4, 48, 64
i B 1
0 K o o d0. If the uncle of the father of Rani ie the
] d i
24, 4.8 11,92, 35 7 grandson of the f:ltthm* ol Anap an A;:_mp iz
-_ the only son of his father, them what ix the
(A) 28 (B} 53 relation of Anup with Rani 7
(€1 26 —B50 (A) Maternal uncle
25. YXZXWYWVXV 2" 2 (B} Great-grandfather
O W (B) VW (C) Grandfuther
LI I WU (D} Thele

e
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31. When 12 + 10 = 1205, 11 + & = 8B4, then

16+ 15="7
(A) 1035 {B} 130
{C1 2405 (D 105
52, 17 TRAIN iz coded as WUDLG, how is the
word BUS coded ?
(4] EXVW (B VIE
_C—EXT (D} DWU

33. In a certain code, MATION iz written a=
ANTTNO. In that code, which word will be
written as KROFME ¢

_{AYREFORM (R} FROMRE
(L PORMER I ROMFER

In the follpwing question

34,
‘A’ means ‘bigger than’,
‘0" meane ‘emaller than',
B mesns 95 equal o],
& means ‘i not equal fo’.

If CXA: ACTB

- IMB and Biflb, then
(AY  AAD

(Bl B&D
G Dac Iy DRLIC

ihrection : I gquestions no. 35 to 37, find the
missing number in the number pallern.

.

(B}
(I

512
412

36,

27.

385,

39,

268 (290 210
248, {7y 166
(A} 26 By 29
"—\_\_\_1
{C) 42 w25
8 2l 2
& o 25
12 2 iy
‘\L{:'E/AQE-" (B} 20
Cr 24 (D) 19
If Twalk at 4 km an hour from my hoose,
I miss the bus by 7 minutes and if I walk st
6 km an hoar, T reach the bus-stop B minoates
too carly. How far is the bus-stop ¥
(&) 7-; km (B} 8 km
(C) 14km M 7 km
If ASHA equalz 79, then
VINAYBHUSHAN =7
(A) 144 {B) 130
(Cy 211 (D) 200
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41,

41.

43,

If in a certain code, ADVENTURE is coded as
BEYISZBAN, how is COUNTHY coded in that

ende ?
(A) EQWPVTA WTMHQE

(C} DEVOUSZ D} DOXHYXE

If PRESENTATION iz written as
REPSENTATION, how can
COMMENDATION be writien in that code ?

(A} IONENCOMMDAT
(B) DATIONENCOMM

(C] NOOMEMNDATION

T, OMCMENDATION

-
If MATCH is coded as NCWGM and BOX as
COA, then which of the following iz coded 2z
OQWIGIVS 7

(A} NOTFBOPE (B} MOEEBOOT

(2} MNOTEBOOK (0} NOTEROER

If STOP iz coded as 19 20 15 16, how can we
code the word POTS ?

(A) 16 15 20 18

1Bl
ey

()

15 156 19 20
15 16 20 18

(D) 19 20 15 18

Diirections : In guestivns no. 44 and 45, fun
statements are given, followed by two conclusions T
and II. You have to consider the siaterments to hel

true, even if Uy seem o be ol poraonce from
commonly known focts. You have to decide which o
thae griven corclusions, i any, follows from the given
stafements.

44,

Statemenis :
1. Science leachers do notl use plastic bage

2. FPlastic bags gre oot osed by zom
Enginesrs.

Conclusions -
L. All Soence leachers are Enpinesrs.
II.  All Engineers do niol use plastic bags.

{A)  Both conclusions T and I follow
3]
{C)

(D

Meither conchuzion T oor IT follows
Omily conclusion 1 follows

Unly conclusion IT follows

Slglements o

1. Some cats are kittens.
2. All dogs are killens.
Conelusions :

I. Bome cats are dogs.
II. Some dogs are cats.

[A)
(B)
8
(I

Meither conclugion | nor 11 follows
Both comclosions [ and 11 follow |

Only conclusion I follows
Crly conclusion IT follews

[
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| SEAL |

47.

A gheel of paper has been folded as shown by

the question figure. You have Lo figure out
[rom amongst the four answer figures how it
will appear when opened ¥
Question figure :
o e
Tl e
Answer figures
imi|(mmll==lii0n
e e B s
(Al (B} (8 (12}
Which of the answer figures is exactly the

mirror image of the question fimere il & mirror
ig placed on the line MN 7

Wueslion ficure »

- IV

D|
I
Answer figures :

QP

L L

@!
\
(I

()

48,

44,

Which anewer figure mmpleics the form in
the question Ggure ?

Question [igure :

1A) (B} () (D)

From the answer figures, find oul the ﬁg‘un!
pattern embedded in the question figure.

Question figure :
Answer figures -

5 | J

(&) (H) (C) D}

| .
=

SPACE FOR ROUGH WORK

http://www.facebook.com/groups/ssc.cgl.help/

by RAHUL VERMA



30. A word is represcnled by only one sel of FOR VISUALLY HANDICAPPED
numbers as given in any one of the CANDIDATES ONLY
alternatives, The sets of mumbers given in the |46.  From the given allernatives, select the word

which can be formed using the letiers of the

e e o s given word.
phabels ps in the fwo matrices Ziven 0w, PATERFAMILIAS

ol 5 of Bat : |
The columng and rows of Matrix I are (A} FAMILY B} TERMINATE '
numbered from O o 4 and that of Matrix II (C) TRANSFER () PREFER il
are numbered from 5 to 9. A letter [rom these 2

: 47. 10, 1,2 3, 4,5 .6, 7.8 9 are represented
imatrices ba resenied frst i R R z
= s g e B R o by a, B, ©, &5 8, 0, 1. i ¥, & respectively, then

alternatives are represented by two classes of

and next by its column, epg. “T" can be T T Box
whal iz the value of — i+ == %

represented by 31, 76, ete.  and ‘S can be ] 1]

represented by 14, 99, ete. Similarly, you have (A} Pr (B) én

to identify the set for the word NEST. ) we (D) O

48. Find the missing combinaton of lellers
complete the alphabetic seriea.

MATRIX I MATRIX IT AE, BG, ? , OGN, KB
AERET e 5|l6|7|a]9 (A IJ T B
ole|v|elalc] [s{r|E|olnlc LA Dy - B
I{R[(D[N|S (8 6|N|P|V|E|g|[|45 Select the related word from  the Bives
2 |m|n[Els]1]| [7|m|T]1]o[x e
slolr|i|lT]a slelalilclo IJEGNTE:VERBDEE:': LATTDATORY - 7
idnlsinizle ol®|T|alRls (A} DEFAMATORY
x S - = (B} SYMMETEY
{C) COMRBINED
. COMPLETENESS
tA) 21, 85, 69, 81 50, Select the mia.ﬁin_sr, number from the give

TEEPOTIAES, 0
(B} 12, 56 99, 32 ;

5 £ 5
S i A
oL =y T 2

(D) 58, 43, 13, 33 -
(A 18 (BY 45

(C1 B0 8y 70
i
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| CHA| |

5l

o2,

PART - B : GENERAL AWARENESS

Who will head the Jury of the Awards
Commitlees of Padma, Ratna and other
highest honorary awards ?

Ay Home Minister

(B) Prime Minister of India
(C) President of India

(1Y Vice-President of India

Most important respansibilily of a Welfare
State is

(A} 1o check exploitation

(Bl to check encroachments on Fundamentsal
Hights

{C) lo preserve private property
{13} to promote religion of the people

Which of the following stalements are
correct 7

1.  Assam shores a border with Banpladesh
and Bhutan.

2. West Bengal $hores a border with
Bhutan and Nepal.

3. Mizoram  shares a  border with
Bongladesh and Myanmar,

(A 2.8 B L3

B R R b 1,2

Arrange the following Presidents  in

chronological order as to who came first and
who came later :

1 Fakhruddin Ali Ahmed

£ Zakir Hussain

3. Justice Hidayatullah

1 ATJ. Abdul Kalam

fAY 2 Y. 8.4 (B) 2 3-4.1
B S i I 2.3.1.4

KR 2012/Page 14
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5.

BE.

G,

(iross Domestic Producl is the monetary

value of

(A) goods produced for the market onky

(B gﬁ:rnds_Pn}duncd for the market and for
sell UD]:I.E-uTI!l—]i.ﬂQ

(C)  stock of goods End services

(D) all final goods and segyvices produced in
a year R

\

Which one of the following market. siruclures

has a kinked demand curve 7

{AY Ohigopoly

(B Moenopolistic compelition

(2} Perlect competition

(D) Monopoly

Which of the following pairs is nof correct 7
AY XF Plan — (2007 — 2012

(B} VI Flan — (1980 - 1985)

(Cy I Plan - (1951 — 1956)

(D IIT Plan — {1966 — 1971}

Which of the following instiiotions deals
with  credit 1o  Agricolture and Raral
Development ¥

{A) SIDE] (B) ICICI

(C1 1DBI (I NABARID)

As per the results of the 2011 Population
Census, which of the fllowing groope
occnpies the three top places in respect of
Literacy 7

(AY  Kerala, [.ak.ﬂshadwr;:p, Mizoram

(B} M:izoram, Kerala, Tripura

(C} Kerala, Goa, Wesi. Bengal

) Chandiparh, Goa, Kerala

District Judges in a Slate are appointed by
the

(A} - Governor

{B) Chief Justice of High Court

()  Advocate-General of the State

(I}  Council of Ministers of the State




61.

G5.

67.

Which of the following iz called the
‘Crossroads of the Pacific ?

(A) Hawaii (B Ellice

{C) Tonga {D} ¥Fij

Which one of the following is an el of man
that disturbs the ecological balance ?

{A4) Lumbering

{B) Social foraatry

C} Vanamahotsav

(I Afforestalion

Which one iz nof correctly matched ?
{A) Glasgow —  (reat Dritain
(B} Pitteburg — TLEAL

(Cy  Longeoy —  Russia

{1y  Rhine —  (Germany
IHow many States in India are coastal ?
(A} @ (B) 10

| B ) 8

International beundary between India and
Pakistan is demarcated by

(&) Radcliffe Line

(B Maginot Line

() McMahon Line

(D) Durand Line

Which one of the following is called the
amphibian in plant kingdom 7

{A) Bryophyla {B) Pteridophyla
() Algae (1)) Fungi

Find the odd one out.

(A) Tapeworm (B Ringworm
(27  Hookworm (1) Guinea worm

National Institute of Nulrilion iz = research
institute located in the State of

(A} Madhya Pradesh

(B) THiar Pradesh

(2] Andhra Pradesh

(DM Himachal Pradesh

KR 2014 Page 16
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TL.

73.

Which one of the fllowing evenls are
chronologically correct ?

(AY Quit India Movement -  Civil
Disobedience Movement — Cabinet
Mission Plan

(@) Civil Dizsobedience Movement — The

Cabinel Mission Plan — Quoit India
Movernent

Civil Disobedience Movement — Qi
India Movement — The Cabinet Aizaion
Plan

()

(M The Cobinet Mission Plan — Civil
Dizobedience Movement — GQuit India
Movement

Wheo founded the Vikramasila Univeraity ?

(&) Dharmapala (B) Mahipala

() Dhruwva (I} Devapala

Which of the following was nof known

during the Rigvedic period 7

(&) Warnz aystem {caste)

(B)  Marriage system

(2] Joint faroily system

(D)  Agriculture

Match the following :

Lhynasty Founder

a. Pallavas-  { 1. Danfidurg

b E':]Zlululi.:.rua ¢ - 2 Vishnuvardhan

L. 'E.ashtmkuta il I,’" Simhavishog -

d _ Huoyzalas— ___f"‘ : Pulakesin, I
A b C d J

A L. 4 2 3

(R} 4 3 2z 1

Cy 2 1 4 3

(o 3 4 1 2

Abul Fazl wrote

[A)
[H)
(il
(I

Akbar-Nama
Alampir-Namo
Bobur-Namao
Hurnsyun-Neomuo




T4. Which data communication method is wsed |81.
for sending data in both directions ati the
same Lime ?

(47  Half duplex
/Bl Fuall duplex
() Super duplex
(M Simplex

82.
75. What does the acronym ISDN stand for ?
(4] Intelligent Services Digital Network
(B} Integrated Services Data Network

{0 Imdian Standard Digital Network
{1} Integrated Services Digital Network

76. Darkening property of photochrematic glass
iz dne to the presence of
{A) ailver nitrate
B} silver chloride
(21 gilver hromide

(D) silver oxide

77. Supersomic aircrafis discharge ihe following
gubstanes into the stratosphere -

(A) CO, {B} H,

() NOy () 50y =
=8 Chemical natore of laughing gas is

(A)  Nitrous oxide

{B1  Sulphur dioxide

3} Mitric oxdde

(1) lydrogen chloride #k.

79. The difference between isolopes of an
glament is due to the presence of a different

number of
(A) electrons (B} photons 87.
{0  protons (I neulrons

§0. The incressing abudance of greenhonse gases
in the atmosphers has led to the [ollowing
efleots excepd
{A) Onoypen fertilization effect
(B} Carbon dioxide fertilisation effect
(Cy Global warming
{1} Depletion of ozens layer in  Lhe

stratosphere

ER. 2012/Fage 18

A tree’s ape can be found by

{A) counting the number of branches

(B} no means

{0} measuring its height

{1} counting the nomber of annual rings

The lefl aortic arch is observed in
(A) FHueptiles (Bl Awea
()  Amphibians {11 Mammals

Tendon connecta

(A} Bone to moscle
(B} Muscle 1o muacle
(C) Bome to bone

(D} Muscle to bone

Mercury is generally uwsed in thermometers
becawse it has a

{A) high conductivity

(B} high specific heat

(23 high Quidity

(13} high density

To an observer on the lunar surface, during
daylime, the sky will appear to be

(A) COrange (B} Black

{Cy Laght yellow (D} Blue

Which of the [ollowing quantities is the
measure of incriia’ ¥

(A) Mass (B)  Weight

() Welotity - (D Acceleration

The intenzity of o wave
[oflews inverse square lasr
ie proportional to its amplitude.

iz proportional to the square of the
amplitnde.

A mly 2 1% troe
(B} I and 2 are troe

O

(1 and 2 are fruc
Oy 2 and 3 are (rue




2118

o1.

In which of the following States, iz the
child-sex ratio the lowest as per the 2011
Census 7

(A) Chhattisgarh
{C) Haryana

(B} RBihar
{0y Punjab

Kaziranga National Park iz situated in
(&) Hajasthan (Bl Asaam
{C) Odisha (D} Gujarat

Who iz the aunthor of the book “If Cricket ia
Relipion, Suchin is (God" 2

(A} Vijed Sunthanam

(B) Shyam Balasubramaniam

(23 Both (A) and (B)

(D} Nooe of the above

Which of the following stalemenls 15 mof
morrect about Sunder Lal Bahuguna 7

(4} He started the ‘Chipke Movement’ t-u

create awarencss of deforestation

By He was elected th Lok Sabha from

Littarkashi in Tttarakhand
He iz an eminent environomenislizt

(<l

([ Ie was awarded Padma Bhushan in

20048

The three coontres, in gerial order, who won
the highest number of pold medals in the
Beijing Olympics Games were

{A) China, Germany, Aunatralis

(B} hina, Germany, TT3A

(C)} China, TISA, Russia

(M) China, US4, Germany

The first woman from India to be conferred
the Saintheod by Pope Benediet XV1 ia

(A) Sister Alphonsa
(B) Sister Nirmala
C}  Sister Deasouza

(1} Sister Madorana

KR. 2012/Fags 20

o0,

104).

Which of the following fuels canses minimum
envirpnmental pollution 7

(A} Hydrogen (B) Coal

(C)  Diesel (I} EKerosene

Minamata epidemic that cawsed  several
deaths in Jupsn in 1965 occurred due o
pollution in water by
(A} Fiuoride

(C) Lead

(B} 1MYF
M Mercury

Oeope  affects human  health by causing
zevere pulmonary edema at a concentration

of
(A} 80 ppm
(C) 02 ppm

TBY. S0 ppm
D} 03 ppm

The frst President o sail in a2 submarine in
Tndia was

(A) WV, {arm

(Bl N. Sanjeeva Reddy

(C} E.R. Narayanan

(3 Dr. APJ Abdul Ealam

Coolking vessels have wooden or bakelite
hondles becuse

{A) the handle must be strong

{B) the handle should be atizactive

(1 wood and bakelite are bad eondectors of
heat

M} Mone of the ahove

“Deshbandhu” iz the title of
(AY S BAE. Pal

{B) Eabindranath Tagore
(’y B.R. Ambedlar

(D) CR Das

Which. ome of the [ollowing
incorrect T

(A} Abhinav
Bindra
Sania Mirea
Jeey Milkha
Singh

Irfan Pathan

PRNLTE IR
Rille shooting

(B)
8]

Badminton
olf

(D Crickes
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PART - C : QUANTITATIVE APTITUDE
101. A completes & piece of work in 4 doye and B [105. The next term of the geries
completes it in 6 day=s, I they both work on it 1, 2.6, 24, 120, ... is
together, then the number of days required Lo

complete the same work is (Al 720 (B} 510
(A) 3% days (B3 .‘ig daya Y GO0 (M 218
2 a¥

3 108. The greatest numhber of 5 digita to be added
© FLE Xy m 22 days lo 8321, so that the sum will he exactly
3 2 divisible by 15, 20, 2497, 32 and 36 ia

A 99779 (B) 89379
102. The length of the side of a aquare is 14 em,
Find out the ratio of the radii of the insceribed {C) 99860 (DXl 99679
and circumscribed cirele of the squars,
107. A and B invest in a business in the ratin

Ay JZ:3 (B 2:1 5 : 4 If 10% of the total profit goes to
e ) - charity and A’s profit chare is ¥ 7500, then
A 0 1:42 the total profit i=
(A) T 12,000 (B} T 15,000
103. A buys an article listed at ¥ 1200 and et
sucecssive discounts of 10% and 20%. He (Y T 7500 My T 10,000
3 spends 10% of his cost price on tranzport. Al
whal price should he sell the article to earn & 108 It fE = 1-732, the walue of =
rofit of 15% ¥ - ;
LD 3446 5
(A) %1195 - (B) T 1100 543 -2V12 — 32 + B0 -
(C) ¥ 1130-75 () ¥ 1092-95 (AY 1-414 (B 1732
{C) 4899 (D) 2551

104. The mtio of milk and water in 55 ky of o

a =37 T = ey
mixture i5°T : 4 The quantity of water that 109. The remainder, when 17 +25°7 s drvided

must be added to make the ratio 7 - 6 iz by 23, i=

(A) 5kg (B) 12 kg (A) 17 (B) 29

(€) 15 kg @ 10 kg S e @ 1
P SPACE FOR ROUGH WORK
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110. A motor car goes to a place at 2 speed of [114. The aver i
age ape ol a up of 30 1
20 Em/br und returns from there at a speed 12 years. When 2 new iﬁ:a ]j'n?u LCI:L.::;Ms I:Tb
of 30 k/hr The average speed (in km/hr) of : 1 3
the car in the entire journey is e i What gu the
A g o " average age (in vears) of the two new boye ?
© o 25 (A) 14 (By 18
ey 12 M 13
111. A mun invests an amount of T 15,860 in the
names of his three sons A, B and C iz auch a
way that they get the Same amount after 2, |11 Average of two numbers i3 7-5 and rquare
3 and 4 years respectively. If the rate of root of their product is 6 Wh o
simple interest is B%, then the ralio of numbers 7 & a1
x.mmum.s invested in the name of A, B and C g
1% (A) 10 and a I:.H} ¥ and 3
(&) 6:4:8 B} 6:3:4 (2 1% and 2 (D] Y and 6
i 4:3:86 fm 4-65:8
e 2 e 116. The pl:uﬁt earned by a shopkeeper by selling
= an article al a gain of 8% iz T 28 more than
ot % e when he sells it at a loes of 8%, The cost price
qd of the article iz
(A] 4T[I (B) 113 (A AT (B) F185
8
o (£ TAT0 I ¥ 190
{ i . oy - —
8
o ' !
T 117. Erishngy has 12 tk hi
TN A OCHOEEE Wi im. He sells x
2 en the value of of them at a profit of 10% and remaining ut
J‘E } .,J'Il—_::: will be a loss of 10%. e gains 5% on the whole
outlay., The value of x iz
(A} 3 (B) 2 (A) 9§ (B) 10
jl - :
{C) oy D) 2.3 Q7 () 8
: SPACE FOR ROLGH WORK
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118 If x* + v} =35 and x + y = 5, the valoe [123. The length of the portion of the straight line

[1 1] _ Bx + 185y = 120 intercepted hetween the axes
of | —+ — | is =
= ¥
) : (A} 16 units (B} 17 units
; ;"i]' A (B . : ;
W g g (C) 14 units (D) 15 units
a2
© 2 o, 2
T S| 124, I (x + 1) and {x - 2} be the factors of
¥ + (@ + 1% — (b — 2ix — 6, then the values
2 z of & and b will be
- G e et G z! a1, thisn
br+cr z¥ax’  axtby (&) 5 and 3 B 3 and 7
the value of ——— + . PR s T LR ol 2
as+x: - bEy ChE
Ay -1 (B} —=2
E =1 o = 125. If x is real and x* + ;1;- = 119, then the
ek

120, The wvalues of a snd b a = 0, b = O} for
which 8x® — ax® + 54x + b bea perfect cube
e e

-.naluﬂuf[x-gia

A i e i (A} +3 By =2
B StE b ) +4 D5
T e T e ;
D) a=38 b=-27 126. If a = 2 + 1, b= 2 — 1, then tha value
121, If 3 15 the centooid and AD be g median of 1 c ;
with length 12 cmoof A ABC, then the value a+l bh+1
of Alz ig 1 -
{A) 10 e (B} 6 cm A) 1 By 2
(C) 4 em (0 Bem 5 I o 3
128, ABC 1 a right-angled triangle. AD is I
perpendicular to the hypotenuze BC. If lm‘["‘wlf a=3+ 2-..."2_, then the value of
AC =2 AR then the value of BD) i5 A +1.._:1+a:3+1 A XL
B
(A) % (B F Hii
o
- BC I BC : ;{A_]_ _zm . (By 212
2 - (C) 192 (L 240
Jad =V A o SPACE FOR ROUGH WORK 0
" 5 ) | @

! _ch TR s bf\u% 'ﬂ:ﬂ

= S = T 3
Es
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128. The perimeter of a rhombos is 146 cm and

one of its diagomals iz &5 cm. The other
diagonal iz

133.

e R

J==

In A ABC, AD is drawn perpendicular from
A on BC. If AD? = BD . CD, then £ BAC ia

[Ay 607 (B)" 90"
(A} 48 cm (B) 72 cm (Cy 30° () 457
(Cy 92 cm Dy 73 cm
134. ABC 15 o lnangle. The internal bisector of
129. ABCD ie a cyclic gquadrilateral. Sides AB and the angles 2 A, 2 B and £ C intersect the
DC, when produced meet at the poinl P and | circnmeircle at X, ¥ and ¥ respectively, If
sides AD and BC, when produced meet at £ A = 50°, £ CZY = 307, then .~ BYZ will he
the point Q. If ~ ADC = B5° and B n' Bat:
£ BPC = 40°, then 2 CQD is equal to o D (B3
() 45° (D) 55"
[A) &R (B} &B5° ]
(cy a0 oy 40 135. If a circle with radiug of 10 cm has fwo
- . parallel chords 16 cm and T2 cmand they
130. In a right-angled triangle ABC, AB = 2-5 i are on the same side of the centre of the
ens B = {PE,. £ ACH = 90°, The length of side circle, then the distance between the Llwo
AC, in cm, is parialiel chords is
L o )
ay 2.5 (B) i_uq (A) 5 em {B) Bcm
4 16 ) 2 em I 3 em
S, S 136. Two circlee of radii 8 om and 2 ocm
¢y 543 D) =3
© 54 o 2" regpectively touch ecach other externally at
the point A. P iz the direct common
131. If cosfl = i,then the value of cosens is tangent of those two circles of centres O,
5 L+eott and (), respectively. Then length of PQ is
s 4 equal to
) 7 (B} 3 (A) 4 em (B} Bem
- 5 (C) 2em (B 3cm
€ = ) 7
e 137. O is the orthecenire of the {riangle ABC. If
132. The valoe of 8 [0° < 8 < 90°] for which £ BOC = 1207, then .« BAC is
cos B sl S A} 1367 (B} oQ°
1-zn0 1+=ini (Y 1507 (D) &0°
{A) 45 138. Circumcentre of A ABC is 0. If £ BAC = 85°,
B & £ BOA = 80F, then »~ OAC is
{C) 30° (Al BO° (B} T5°
(D) _None of these ) 8 {8 507
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139. If cos® + sec 0 = 3, then the value of
cn539+5er35‘| ig
(AF =1 (B 3
cr o Dy 1

140. If for all real values of o,

x = cos? @ + sin® @, then the range in which

x lies 1%
-———___@_‘.Eﬂxﬂl (Bl 151’52
16 i
<) 3 13
o E T D}y —gx= =
{54 = x=1 Dy 7 x is

141. The maximpem value of 24 sin 8 + T cog B
T

(A 24 (B) 25
wy v (L) I

142. In A ABC, ¥ A is a right angle and A iz
perpendicular to BC. If AD = 4 ¢m,

I.-'f E"m BC = I2 cm, then the walue of (cot B + eot C)
|I iiE

L
fojm_ A 4 B

3
2
Mm} i D) 2

143. If eec B + tan @ = 2, then sec 8 is cqual to

145. A pole broken by the storm of wind and fs
top atruck the ground at an angle of 30° and
at a distance of 20 m from the fool of the
pole, The height of the pole before it was

broken was
=
(4) 6043 m e
({83 En-..'rﬂ m {In ﬁ I
3

Directions @ Percenlage of the cqndidates enrolled
in seven different schools for the CBSE 0™
examinaiion and condidoles who passed  the
exgmingtion is given by the follvwing pie-graph.
Htudy the graph and answer questions no, 146 — 150,

Candidates Enrolled = 8550

Sl o 5 5
- Al = (B} —
Fk'k"‘ﬁ ey 2 4
7 i
ey < k!
} i m 2
144, If tap 20.tan 46 = 1, then the value of
tan 36 ig
1
] ¥ a2
LA o Bl
(C} 0 = D) 7 =
73 SPACE FOR ROWGH WoRk !
cRxom Az [P W Lo H
== T T = - i 1 —ie i :\.Eﬁ L _—-_Eﬁ'ﬁ.':lq‘
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146,

What is the ratio of candidates passed to the
candidates enrolled rom the school A 7

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

Ay 6:7 By 7:8
146, A lruck covers a  distance of 600 meters in
Gy .6 211 Dy 11:46 I minute whersas a bnz covers o distance of
32 km in 40 minutes. The ratio of their
145, What percentage of candidsates passed 1o the speeds i

candidates enrclled for the achools B and O

[(AY 3:-4 By 4:5
ther 7
< © 1:2 D) 2:3
Ay 76 (B1 A0
147. The compound interest on a certain sum for
oy 72
Gl o) 2 years ia ¥ 4,100 and the simple inlerest is
T 24000, Then the rate of intereat is
148. Which school has the highest percentape 3
of candidates passed fo the candidates L g B ©h
enrolled ? C} 4% ) 5%
TR HE 148. A shopkesper bought 24 bags for T 24D, What
iC) B m C will be his profit if he sells them at ¥ 15 sach 7
(A} T 1Z0 (B} ¥ 100
149. The pumber of candidates passed from the () ¥ 180 (D) ¥ 140
gehools I and A together exeeeds the
number of candidates enrolled from  the 149, If » sguoare i3 inscribed in a circle whose
schools E and C together by area is 314 eq. cm, then the length of each
(A) 289 (B) 439 MEEE of the square iz
[(ziven &= 3-14]
(C) 299 (D1 379 (A) 10 em (Bl 1042 cm
G 542 D} 204
150. What percentage of candidaies passed in the e B i M) 202 em
examination [om school E out of total [150. Ina bag, there are some 20-Hupees, 10-Rupeces

number of candidates enrolled from the same
schoal 2
Al 75 (Bl &0

2y w0 M) 66

and 5-Eunpess noles in the ratio 2 : 3 - 4. IF
there are in all T 360 in the bag, how many
Z0-Rupees notes are there ?

(Al 4 (B} &8

wy 1=z Dy 1
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PART - D : ENGLISH COMPREHENSION

Directions : In questionz no. 151 to 155, some parts of the senfences have errors and some have none. Find
out which part of a sentence has an error and blacken the reclangle [ M | corresponding fo the appropricte
lelter (A, B, O, If a zentence iz free from error, blacken the rectonpgle [ M ] corresponding fo (D) in the
Ansirer Shiet.

151. Some of the people [ were atanding on the atreet /
(A (B}
watch cricket match, while others were sitting. / No error.
L - (D

152. T:am glad [ that the mews [ are goed. / Mo erTor.

“{A) » (B () (D)

153. The judge wsdl,_cil Lhc__a_-;;m.n.spd ! to gec if he would / read English. / No error,
R e TN (o (D)

154, 1 Imw neither visited / or intend / tn vtmt. |‘1't]| Etat!ﬂ-]‘L‘.-_ £ Mo erTor.

= (A T e (D)
155. Kamala wlnfenur than Geetha ! in her studies. [ No error.
W m] g () (D}

Direcfions ; In guestions no. 156 fo 160, sentences are given wih blanks o be filled in with aon
appropricle wortl{s), Fowe allernndives ore suggesied for ench question. Choose e correct allermalioe oul of
the four and indicate it &y blockening the appropriate rectongle (98 | in the Answer Sheef.

166, ITdootthink Tean with himcany (158 CNV. Hamanwasan’ grientiab
Iun.glgr. i ¥ . (A) i1_:.inerant (B) immanent
{A) putap {B} put out B nn:r.ine;_ (D} imminent
(Cl L (D) t ofl
S 2 150. He mnever drinks and drives. He i= .too
15%. The of many temples in Bgsth S e m]];,-.hlm i
and Central India snrpasses even that of the (Al sensual (B} sensible 4
Taj MEJ.'I:EI;]: (Y}  menEucus () mensitive__
= . —
M APPEATATICE
e 160, On account of an accident, the traffic on the
{B) goodness G.T. Road was .
{5 mapnificence (A)  dislocaied (B distorted
D) look (C) _disturhed = (D) disrupted
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Directivns = In guestions no. 181 to 165, out of the
four clternatives, choose the one which best expresses
the mecning of the given word and mark it in the
Angwer Sheet.
161. Marcissism
.

A selfadmirtion

B rude behavioar

#0) nunpleasant behaviour

) selfcondemnation

.lﬂ- Camouflage

{AJ demonztrate {B} fabric

(T disguise (D) cover
163, Yearn

(AY  eonfront (Bl crave

(C) deny {I) accept
164. Penszive

{A) contemplative (B} precise

() reluctant (D) unhappy
165. Impecable ’

—H4)  upnght {B} harmless

(C) _inoffensive (1)) flawless

Directions : In questions no. 166 to 170, choose the
word opposile in_meaning fo the given word and
mark i-8 the Answer Sheet.

166. Disparage

{A) comfort (B) connect

(C) _ compliment— (D) convince
167. Garruloas

(A) grucsume {B] creative

(C)  quiet (D) exagperated
168. Aupment

{A) supplement (B) decrease

. () increase (D) defend

168, - Amateurish

(4) skilled (B} professional

{C)} seasoned (D) trained
170. Igneminious

(A1 honoorable (Bl clever

{C) waluable {Il  desirable
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Directions : In questions no. ITI te 175, four
alternotives are given for the idiom/phrose
underfined. Choose the aliernative which best
expresses the mecning of the idiom/phrase and
mark il in the Answer Sheet.

171. A good sportsman cannot afford te have a it
of the blues before the game.

{A)
{B)
(8]
(D)

slimulants
enitertainment
., steroids or drugs

de I-E-T- S ETON

His utopian idea was_entertaining butl not
accaptable,

(A} classic idea

B  intellipent iden

{C) uwnworthy idea .

- 'ijﬁ:;gtinar}r idea

172.

173.

He has the habit of getfing inko & TOW over
trivial matters. =
seeking the help

{B) picking np a fght
_rfﬂT__E_eT:E;g_u_right path

(D} giving unwantad advice

(A)

174. A small fry
(Ay little
{B) important
)
in) weak

unimportant

175. Do net loze your head in public.
{A) be embarrassed

LB]
(C) pgei angry

(D} get a headache

shave your hair




”
L]

Directions : In questions no. 178 fo 180, o part of
the senfence is underlined. Below are piven
alternatives to the underlined part ot {A), (B} and (C)
whick may improve the sentence. Chovse the correct
alternative. In cose no improvemen{ is needed, your
answer is (D).

176. John is wearing hiz jacket ns il iz getting
very cold.

(A) getting on
(B} pulting on
(C) taking on
(I No improvement

177. I worked in this offies since 2005,

(&Y have worked
{B) have been working

() am working

(D) No improvement

178. The host offercd me tea but I denied it.
{A) zaid no
(B) rejected
()} refused

D) Ne improvernent

179, Can any spirituslly dead man be so 85 to have

no love Tor hiz native country 7

{A) Can any man be so spiritually dead as
to have no love for his native country ?

(B} Can any native man be so dead as to
have no love for his spiritual country 7

{C) Can any dead nran be so as to have no
spiriteal love for his native country ?

(D) Mo improvement
180. How can anyone sympathize with you when
what you gay is hardly gullible ¥
{A) credible
(B} incredible
(C}  credulous
D} Mo improvement
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Directions : In gueslions no. TRT to 185, out of the
four alternatives, choose the one which can be
substituted for the piven words | senleines.

181. A person eighty years of age
0 L JII_ = .
(A} Dectopenarian

(B} Sexopenarian

(C] Septﬂgcnurim{ :

(I Nnnuge.r-mn_'aﬁ -

——

182, Too much official formality

CA) . Diplomacy 5
(B Autocracy
(C} Bureaucracy

(D) Red-tapism
5

183. Enclosure for birds
(A} Lair
(B) Aviary

(C) Pen
{0} MNest

184. That cannot be congquered
(A) Intangihle
(B} Inevitable
() Inwvincible
(1}  Imvulnerable

185. Hard to please
tA) Fastidious
(Bl Epicaresmn
() Logumeions

D} Stubborn




1},
-

(A} aoquisision
(Bl sckuisition
(0 poyoissition

M1 acquisilaoon

187. (A) demanstralive—
- o e _.__-—'—"_-
(B} aliractive

(C) roprasentative

() aﬂminaﬁlfalive

188. {A) monarchy

(B) discrapancy
(C) _hieararchy

W s

139.‘ {A) refference
(B relliancec
G

L)

UIZ‘:EIJJ'EI:I.I::E-'

FECUTTEDCE

%] disﬂripﬁva_._ .
{B) receptive

e B
{C) coopperative

- (1))  comppetitive
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Directions + In questions no. 186 {o 190, there are
o different words out of which one iz correctly
¢ Find the correctly spelt word and indicate it by
<hening the appropriate rectangle [ wm] in the
Ansuer Sheet.

—

Directions : In guestions 191 to 200, you hauve tiro
brief passages with 5 gquestions following each
paseage. Read the pussoges carefully and choose the
best gnswer fo ecch guestion out of the four
alternatives gnid mark if in the Answer-Sheet.

Passage I (191 - 183)

TInlike the masses, intellectuals have a taste
Eu-P rajponality and an interest in facts. Their
::nth:al h:ﬂc_nf mmd makes. t.hgu:: resmat:mt.
Ln t.'ha k;m_f pmpaganda that - works o we-ll
on the m‘i}nntz.r Intellectuala are the kind of

peaple  who d-.,man&. evideno: and are

L = —_

ﬂhm:kul ]:n:.r

!::n-g'lc—al

:m:nnmstenmea and

o — e

e

fa]lamcw ! regard nver—samphﬁr:.aum as

the ungmsl sin -:nfthu mind u.nd have no use

fur

191.

-
(Al

(Bl

g —

| ——

e e T,
the slogans, tl the unqua.hﬁed assertons

e

R

_'_,J—'—'_‘—-'
a.ud SWeeping generaluzatmns which a:-e?hu

i o — -

— S —

- T

propagandist’s stock-in- -trade.

Intellectuals are the kind of people whf

look for evidence in suppurt of logical

inconsistencies and fallacies

accept only those thinge which =
logically consistent and well supported
by evidence

@ demand  logical  inconsistencies and
L

e

fallacies

(D) ignore faulty logic and wrong beliefz

=



192. TFallacies’ means
(A) illogical arguments
(B} inconsistencies
~ false evidence
(D) false beliefs
192. A trail which intellectuals do not possess is
@ aver-simplification 1..- :
o e
(B) logical thinking
{0) critical thinking

(D) rationality

194, The first sentence ofl.the paseage m‘é;gmta

that %ﬁ&(\\

T {A)  intellectnals behave like individuals, not

like members of & crowd QS"'

@__;EIIL _individuals have a taste for

-

(B) individuals are intellectuals

rationality and an interest in fnets

(D) groupe consist of intellectuals

195. The majority of peoplc

Mrk well with intellectuals
{B) possess a critical habit of mind
(C)} resiat propaganda

(D1 do not possess a crilicsl hahit of mind

KR. 201%/Page 38

Passage 11 (196 — 200)

Unquesticnably, a literary life is for the most
part an unhappy life, because, if you have
genius, you must suffer the p:enulf.y of
genius; and if you have only talent, Lhere.are

B0 MANY CATES u.u& wm‘ﬁFH inuiduniaﬂ to the

c:rt:ums!ﬂnce-a n[‘ ITLETL n-t" letters, us 1o make

life mcmjmgl].r !I:I:LlEL-rah'l-F Hemdes-thc paﬂRjﬂ

of umu}_mmtmn alld

-— Taae s e

dlbupp-q}mtmenL wh:d1 a true ortish feels at

the  conlinuous

I-J_u;. mab:ht} 1 re'.resl hu:nbc]f there i Lhe
o E:f-rflcunmg dﬁﬁmlt_-,r of gaining the pul:lu,

car, Young urrt&rq are buoyed g by the
hl.:[ll" and t]:u: l:n-eezhet‘ that Lhr..:,r hwp nn]_1,- o

thpow th that poem_at_ t.h:: world's feet to peb

back in return the lsurel-crown; that they

. have only lo push that novel into print lo be

acknowledged at omce as & new light in
-

Iitmtun;_"f-qu £an Tever mm"lnna a2 yuung
[

authnr that the editors of maga::mes and the
]:rubhslhm's nt‘ ]:II:H'.Ink.I:- Bre f pran:h:.al bedy—of

men, w‘tm are_hy m:n mem fruntically
o

—

anxious about placing the hest t literaimre
before the public. Nay, that for the mnost
_Earl.,_th_ey_ E::'I';E_ 'mﬁ_- -h-'l'l'lkE]'E._ who cqnduct

their hﬂmnass i the hu.n'lm!. linea of a
I"ru-J"r anil 1636 sceount. Bul supposing }-uiu-
book t‘a:rl:, laun'chrﬂ,_.m-.,_,pmks- are ooly
h._gun-;ung Tou have to run thp g_aur:_'t.lu.f—“ﬁ-.,_\

iy

the tntu:;a 'Tn a inung: aut.hﬁr _aguin, Lhiz.a
,IE._E;_Lhu be n temblc unlre:f whan you are a_

e i e

little older, you will find t-hat. eriticism 1%

—

_— F




much more scrious than the bye-play of |187. The writers advice to the literary artisis
clowns in a cirens, when they beat about ihe regarding criticism of their work is 1o

ring the victim with bladdera slung ai the (A} withdraw it
end of long poles. A time comes in the life of

every author when he regurds crilica &S ﬁ__maintai_u pesiect Senos
comical, rather than [ormidable; and gocs i3} defend it publicly

his way unheeding. But there are sengilive
souls that yield under the chastisement,
and, perhaps, after suffering much silent

torture, sbandon the profession of the pen |198. It is am established fact thal our 'Ijt.l;_rm-_-.-

(D) prolest against it

for ever. Keats, perhaps, is the sudidest artists arc
example of a fine spirit hounded to death by (A} unhappy |
savage criticism; because, whatever hig @By succesaful

T e

(3] peniuaes

bingraphers may aver, that furious attack of
Gifford and Terry undeubtedly expedited his
death. But no doubt there are hundreds who

(D} talented

cuffer keenly from hostile and anecrepulous
eriticism; and Wwho have 1o bear  that 199, e
suffering in silence, becanse il 18 a cardinal
(A)  candid

principle in literatore that the most unwise
thing in the world [or an author is to take @\mnn}r
public notice of criticism  in the way of
defending himself Silence is the only
' safeguard, us it is the only dignified protest| (D) seepical

(C) wover-conlident

agninet insult and cifence.

: : : an0. The literary publishers publish only what is
196. The writers atlitude towards the literary

critice is of @mﬁﬂ
[A) ST . [Ml‘ldﬁ

. zspest ()} best

{C] revererme
(D)} saleable

Dy indiffercnce
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